Moltiplicare per potenze di dieci ( numero mancante

)

4,149 x

9, 859 x

5,612 x

1,739 x

3,291 x

8,298 x

1, 88 x

=187.5

=41.49

= 985.9

=561.2

= 1739

=329.1

= 8298

3,357 x

7,531 %

= 1880

= 3357

=75.31

Data: Punteggio:

9,77 % =977
7,49 x =749
9,007 x = 9007
10, 821 x = 1082.1
5,738 x = 5738
4,433 x = 4433
5,353 x = 53.53
3, 681 x =36.81
3,392 x = 3392
1,007 x =100.7
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Moltiplicare per potenze di dieci ( numero mancante

mEy )

Nome: Data: Punteggio:
1,875 x 100 = 187.5 9,77 % 100 =977
4,149 x 10 =41.49 7,49 x 10 =74.9
9,859 x 100 = 985.9 9,007 x 1000 = 9007
5,612 x 100 = 561.2 10, 821 x 100 = 1082.1
1,739 x 1000 = 1739 5,738 x 1000 = 5738
3,291 x 100 = 329.1 4,433 x 1000 = 4433
8,298 x 1000 = 8298 5,353 x 10 = 53.53
1,88 x 1000 = 1880 3,681 x 10 =36.81
3,357 x 1000 = 3357 3,392 x 1000 = 3392
7,531 x 10 =75.31 1,007 x 100 = 100.7
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